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Mr. Schlansky \ Algebra II

Functions Review Sheet

1. The function v(x) = x(3 - x)(x + 4) models the volume, in cubic inches, of a rectangular solid for

= x % 3. To the nearest tenth of a cubic inch, lwha’[ is the maximum volume of the rectangular
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2. A manufacturer of sweatshirts finds that profits and costs fluctuate depending on the number of
products created. The manufacturer determines the profit, 2(x), in thousands of dollars, as a function of
the number of sweatshirts sold, x, in thousands. This function, p, is given below. Over the interval

0 < x =9, state the maximum profit and round to the nearest integer.
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3. Over which 1in}rvals is the graph of f(x)=—x*+15x" -7 strictly decreasir;‘7
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4. Over whg:gntervals is the graph of f(x)=x’ +8x” +3x—8 strictly decreasing?
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5. Which va]ue, to the nearest tenth, is an approximate solution for the equatio@if
‘(1)— = 2(1.3)7?

and zlx

1) 3 3) 4.0
3 4) 5.6

6. If p(x) = 2In{x) - 1 and m(x) = In(x + &), then what is the solution for g{X) =

1) 1.65 356 - :
2) 3.14 4)n£"£§mtion | 4L IV\‘)WB&F

7. The function f(x) = [x . Which function represents a shift of the graph left 3 units and up 2
units? )({- + 2
1) g(x)=vx-3-2 3) g(x)=+x+2-3 3

@ g(x)=+x+3+2 4) g(x)=4x-2+3
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8. Joey's math class is studying the basic quadratic function, f(x)= x*. Each student is supposed

to make two new functions by adding or subtracting a constant to the function. Joey chooses the
function g(x) = (x+2)> — 5, What transformations would map f(x)to g(x)?

@ift left 2, shift down 5 3) shift right 5, shift up 2
shift right 2, shift down 5 4) shift left 5, shift down 2

9. A manager wanted to analyze the online shoe sales for his business. He created a graph to

model the data, as shown below. Determine the average rate of change between the sixth and

fourteenth hours, and explain what it means in the context of the problem. D
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10. The population, P(#), of a town increased according to the function P(f)=12,000(1.03)",

where t is the number of years since 2000. Find the average rate of change from =10 to =20
rounding to the nearest integer. Explain its meaning i the context of the problem.
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11. The table below shows the number of hours of daylight on the first day of each month in
Rochester, NY. Given the data, what is the aWange in hours of daylight per month
from January 1st to April 1st? Interpret what this means in the context of the problem.
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12. Given fix) = Fx+ 8, which equation represents the inverse, g(x)‘7

1) glx)=2x-3 3 g)=-tx+8 %’ O
g(x)=2x-16 ¥ 4 o =_1 e Q. q -
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13. The inverse of flx) = —6x+ % is

D f'l(x)=rjx—l @ 7
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Determine whether the following are even functions, odd functions, or neither. Explain your
answer.

‘\14, f(@:(%)x 15. f(x)=—x*+4 16. f(x)—— D/(OI be@uy

» yin becaubL S (
f&l%( §jmrm*’)<— B k J e
.\'é,’_, j —(470) Of/\j )/)

17. f(x)=-2x"+6x 18. f(x)=~|x|-6
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20. The expression (x + i) - (- )’ is equivalent to
DO 3)-2
2) -2 +4xi @ A7 L[o\

19. f(x)=2x"+3

e
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21. The expression fixi*(—4xi + 5) is equivalent to
1) 2x-5 3) -24x+30x-:
O-24x" - 30 4) 26x- 24x%i - 5
=400 300¢

22. Which value is nof contained in the solution of the system shown below?

4x—-5y+2z=130 14
3x+2i—7z=—99 V’%SMHQ—
10x—-6y—-4z=112 = 10
210 7§:_D_
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23. Which value is contained in the solution of the system shown below?
3x+y+z=-4
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